Long Division
4 – Solve using written long division
HINT: Write out the times tables of the number you are dividing by first!

1.  12,597 ÷ 19 =    
2.    9,766 ÷ 19 = 
3.  16,606 ÷ 23 = 
4.  12,834 ÷ 23 = 
5.    6,061 ÷ 19 = 
6.  18,975 ÷ 23 = 
7.   14,484 ÷ 17 = 
8.    2,337 ÷ 41 = 


5 – Solve using written long division (if the answer is not a whole number then work out the decimal answer)
HINT: Write out the times tables of the number you are dividing by first!

1)  3,854 ÷ 47 =
2)  346.8 ÷ 17 =
3)  2,015 ÷ 31 =
4)  1,187.5 ÷ 19 =
5)  1,628 ÷ 37 =
6)  2,952 ÷ 41 =
7)  764.7÷ 23 =
8)  1,181.9 ÷ 53 =


6 – Mixed up questions: choose a method to solve the following

1)  65 ÷ 5= 
2)  4,165 ÷ 49 =
3)  3,424 ÷ 4 = 
4)  8,452 ÷ 100 = 
5)  2,591 ÷ 3 = 
6) 725 ÷ 29 = 
7)  3,767 ÷ 8 = 
8)  1,989÷ 39 = 




4 – ANSWERS



1)  663
2)  514
3)  722
4)  558
5)  319
6)  825
7)  852
8)  57


5 – ANSWERS





1)  82
2)  20.4
3)  65
4)  62.5
5)  44
6)  72
7)  33.25
8)  22.3


6 - ANSWERS


1)  13
[bookmark: _GoBack]2)  85
3)  856
4)  84.52
5)  863.66666
6)  25
7)  470.875
8)  51




